B\ BB EM/NFE A E LA TR

(4% 5%]

[EXE] 27: 46. 47

[%£5] FE2H5

[447] (1) ER—EEHSHEEZEY, 22+45=27;:
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[467] 39%12=(39-12)+3=9, 90 3=(9+3)x3=136.
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Wik, BET=MEc Sa . bAENEIFRIE, HEIx2=6 (F).

1 2

9. [#Z] 40: 440
[#£=]) TR EPHEMERNENEFRLT,
Cortr] C1) Gniimng, #AHERE, #0+(5+6)=40 (Fk),



10,

11

12,

13:

14.

15,

(2) fREm, BREAE, #40(6-5 =440 ().

[E£] 12

[&5] ik

[587) R H EEMER, 96-3=32 (), FELEH. B2 4, 2BHE
32-20=12 ().

[£%] 220

[£5] kEFEidH

[ 8TV RFEORETERELE 660 K+ EHK, KFEIOEL—IFEFK, WAkFEI
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